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QUESTION 1

Which control expression must be the last line in all macros? 

A.  

B.  

C.  

D.  

Correct Answer: C 

 

QUESTION 2

Where are Level 2 LSPs flooded? 

A. over physical links within the IS-IS domain 

B. over Level 2 adjacencies within the IS-IS domain 

C. over Level 1 and Level 2 adjacencies within the IS-IS domain 

D. over Level 1 and Level 2 adjacencies within the backbone area 

Correct Answer: B 

 

QUESTION 3

Two Level 1 routers are exchanging Hello packets with different Area IDs. What occurs between these routers? 

A. An Adjacency is formed. 

B. No IS-IS PDUs are sent 

C. An Adjacency does not form. 

D. An Adjacency forms but traffic is not forwarded. 

Correct Answer: C 

 

QUESTION 4

The Origin attribute describes the source of the BGP prefix. Which three are valid Origin codes? (Choose three.) 

A. IGP 

B. BGP 



C. EGP 

D. Incomplete 

E. Anonymous 

Correct Answer: ACD 

 

QUESTION 5

Which three statements describe macros on the ERX Edge Router? (Choose three.) 

A. They prompt users for input. 

B. They cannot prompt users for input. 

C. They can be created on the router itself. 

D. They are an embedded programming language. 

E. They can be created on the user\\'s workstation. 

Correct Answer: ADE 

 

QUESTION 6

What are the maximum number of classifiers per policy group? 

A. 100 

B. 128 

C. 256 

D. 512 

Correct Answer: D 

 

QUESTION 7

Which OSPF router will advertise a Type 2 network LSA for a broadcast network segment? 

A. DR 

B. ABR 

C. ASBR router 

D. DRother router 

Correct Answer: A 



 

QUESTION 8

Which CLI command shows whether an L2TP Tunnel Switch profile is applied? 

A. l2tp tunnel test 

B. show subscribers 

C. show aaa domain-map 

D. show l2tp destination profile 

Correct Answer: C 

 

QUESTION 9

What is the first step in BGP route selection? 

A. The local router prefers the route with the shortest AS Path. 

B. The local router verifies that it has a route to the BGP Next Hop IP address. 

C. The local router prefers the route from the peer with the lowest peer ID address. 

D. The local router prefers the route learned from an EBGP peer over a route learned from an IBGP peer. 

Correct Answer: B 

 

QUESTION 10

You would like to operate IS-IS on interface atm 6/0.33 with an IP address of 192.168.1.1/24. Which set of commands
accomplishes this? 

A. router isis network 192.168.1.0 0.0.0.255 

B. router isis network 192.168.1.0 255.255.255.0 

C. interface atm 6/0.33 ip address 192.168.1.1 255.255.255.0 router isis 

D. interface atm 6/0.33 ip address 192.168.1.1 255.255.255.0 ip router isis 

Correct Answer: D 

 

QUESTION 11

Once the TCP connection is established, which message type initiates the BGP peering process? 

A. Open 



B. Active 

C. Update 

D. Notification 

Correct Answer: A 

 

QUESTION 12

What are two advantages to customers with L2 MPLS VPNs? (Choose two.) 

A. Service provider has routing control. 

B. Customers control their own routing. 

C. Can communicate protocols other than IP. 

D. Allows them to use separate networks for IP and VPN traffic. 

Correct Answer: BC 
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